3 2 1
® D
© ‘
(410,8)
(337,8)
H Oil Connection 1/2" Barbed H
] g
= C
; e
5 T 1
N -
8 ) © ($49,65)
—_ ~
8 A g
«Q )
e
L — =
<
T 7 &l
Oil Connection M16x1.5
(34,3)
11 1 OIL CONNECTION OCO00020A C43 M16x1,5 (inv.)
10 1 OIL CONNECTION OCO00047A C43 1/2" Barbed
9 1 PLUG TB00232A 43/45 with g2mm hole
8 2 | Water Connection WC00122A C43/45 g24
7 8 Screw Torx TBO0043A MRT-TT M6x25
6 2 O-RING SLOO039A 18,77x1,78 FPM
5 2 O-RING SLOO038A 36,17x3,2 HNBR
4 4 Screw Torx TBO0048A MRT-TT M5x16
3 2 GASKET SLO0002A C43/45
2 1 CORE CR00011 @43-332
1 1 HOUSING HSO00005A C43 L=320,2
ITEM | REQD TITLE PART NUMBER DESCRIPTION
CONSTR DRAWNBY |CHECKED | TITLE SCALE DATE
uL RH 12 A3 | 20000525
OIL COOLER C43-332 E=R
: DESCRIPTION MATERIAL
@ Laminova
Heat Exchanger Systems OC 1/2" Barbed, M16x1,5, WC @24 Dg\XNSB) 444N
3 [ 2 [ 1




